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R4 2019E < Z > RspE Rk L 2(16:20~18:10)[18:18]
N 2 # Home % B Visiting ()] TREIP o VP = ek 34,VP TR L R&:1 ~6 +44 RE:7-12 #44
FE 1t % 1 s | apgpH | 2V | agE | BBV | A gH BV [ArH[ RV (met] e | SVP [COP| 422 [ mR| mE BVP CoP
1 1 X K 5 N E 21 19 10.66 | 9.34 47.39 4155 3 6 1 3 | Infinity |55.08 7 9 |[Formosa [40.58
2 2 25 9 Formosa 26 42 558 | 1442 | 2887 40.58 11 7 2 |10 [Towin [47.90 8 6 =M | 3979
3 3 Infinity 6 L ] 43 28 | 1419 | 581 55.08 39.79 1 8 3 1 X K |47.39 9 8 Bh & | 36.82
4 4 pidid 1 Epsilon 1 38 345 | 1655 | 14.82 45.33 12 | 4 4 | 11 [Epsilon |45.33 10 |12 B8R | 349
5 7 K 10 To Win 10 25 581 | 14.19 | 43.96 47.90 5 2 5 7 5 W |43.96 1 | 2 2 5 | 2887
6 8 5h B 12 B R 45 20 1621 | 3.79 36.82 34.91 9 10 6 5 WX 4155 | 3| 12 | 4 FRM | 14.82




